Students’

(1)

3)

PART a8/ A
GENERAL AWARENE e S o,
[atfe il
and Teachers’ Holistic E| et s ('{2]1?3?5} L{
Advancement through Quality Fducation
(SARTHAQ) is an -
SEALA -
: 6 ) ﬁfuiﬁﬁ'l&ﬂ#?w T fomg
Indicative and suggestive NE mfaq?{ AT I EIGETE I e
implementation plan for Legal
Education
; @ mﬁm%mn@amm%m
Indicative and suggestive .NEP 19 i P
implementation plan for Higher frort
Education
Indicative and suggestive NEP (3) Wﬁﬁ]wa&-mmu 12 T =ifd Frim
implementation plan for School el 61 e S e
Education

- @)

Indicative and

suggestive NEP

implementation plan for Technical

Education

Johann Gutenberg developed the first-known
printing press in Germany. Which was the
first book he published in that press ?

@) The Magna Carta

(2) The Republic

(3) The Bible

(4) The Odyssey
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J.

Which of the following statement(s) is/are } 3.
correct about ‘India State of the Forest
Report” (ISFR) ?

(A) The first State of the Fgrest Report was
published in 1947,

(B) The report is based.on the biennial
assessment of India’sforests carried out
by Forest Survey of India (FSI).

(C) Based on the ISFR 2021 report the total
forest cover of the country is 21.71% of
the total geographical area of the
country.

(D) The ISFR 2021 report shows a decrease
of forest cover as compared to the

pI'EViOI.lS assessment.

Choose the correct answer using the codes

below : LS
(1) Only (B), (C) and {D)are correct
) Only (C) and (D) arg"gorrect
(3) Only (B) and (C) are-correct
) Only (A), (B) and @.are correct
Y

Assertion (A) : N

Both India and the USA have bicameral
legislature.

Reason (R) :

The upper house of the legislature in both the
countries has an equal number of seats
reserved for different states.

Choose the correct answer from the codes
C )
below : Yo

(1) (A) is wrong but [I'.i]{iq correct

(2) Both (A) and (R) q;r'é-'-'?orrect

(3) Neither (A) nor (R):is correct

(4) (A) is correct but (flf:ﬁ wrong
\

o . 1
2GT-COM-2023 % \

'mmmamﬁﬁ'(m.@.w.ﬁp
F aiy o Frerifea H & 29 w/8 FuE EE 8/ 7

(A) el B 3ifH 7 wiee fre o 1947 °
WeRTTur 73 |

(B) % frdré e & wEe (TR TH. 3.
T ey 71

(C) SETEUEHL F T4 2021 F1 i *
T T 39 3 e Mo A R 21.71%
FreBad & |

(D) SETHTEAR 2021 F s | ‘ﬁmﬁ
e W ger | aesied & H B
suifan T ¥

1) Faa (B), (C) 3 (D) T €1
(2) Fad (C) 3 (D) Tt €1
(3) Fad (B) 3 (C) W €
(4) o (A), (B) IR (O) T T

AREHYT (A) :
o SR ., STiEs S feme faumdee
Tl

&I (R)
SR 2901 fauETed * 9= oA # SIS
T o Ter s e S Een O 9

3 fou o e B A Wl IW IR
(1) (A) T & g (R) WE E
@) (A) 3 (R) FH @ L

(3) T (A) T (R) §E &
(4) (A) W & fg (R) T T

Q2




Assertion (A) !

g to Union
advanced o
e from the Budget

As part of the major reform
Budget, the date of budget was
1 February for the first im
for Financial year 2020.

Reason (R) ¢
f Budget date has been

The advancement 0O
of the Budget

done to enable early completion
cycle.

Choose the correct answer from the codes
below :

(1) (A) is wrong but (R) is correct

42) Both (A) and (R) are correct and (R)
explains (A)

(3) Neither (A) nor (R) is correct

4) (A) is correct but (R) is wrong

6. Which team won the 2023 Women T20 World
Cup ?

(1) India
(2) Australia
(3) England
(4) South Africa

7.  Who was awarded the Sahitya Akademi
Bhasha Samman 2022 7

(1) Krishna Bhattacharya

(2) Chungkhan Yashawanta Singh
(3) Shashi Nath

(4) Uday Nath Jha
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8. ‘Milpa’, ‘Roca’, ‘Ladang’ are different names
of which of the following ?

A1) Shifting cultivation
(2) Open-cast mining
(3) Earthquake waves

(4) Rain water harvesting

9, What do we call the process through which
bacterial and fungal enzymes degrade
i detritus into simpler inorganic substances ?
A1) Leaching
(2) Catabolism

(3) Humification

(4) Fragmentation

10, According to the National Education Policy
2020, by which year the Gross Enrolment
Ratio in higher Education including
vocational education is to be increased to
50% ?
el
7(1) 2030

2) 2040
@ 2035

(4 2050

a? PGT-COM-2023 ﬂ

tﬁﬂnllmnjim:ﬁqﬁa' ﬁ-@mﬁ;m_
F7erT A ¥ 2

(1) T
@ o T
(3) VY I T

(4) =9 S G

< T ) < e ST & e A A S
3T FaF % TIEH AWG ®H AfHE T
ST TETY F ST L € 2

(1) e

@) A=

(3) I
(4) @EEA

n@ﬁﬁ&nﬁz&m#mﬂ,maﬂﬁ
ST T Tt S=at e # wehel A=
1 I 50% T T T A B ?

(1) 2030
@) 2040
(3) 2035

(4) 2050
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A L
s I;:I-ITY / “* gl 1f North bec
REASOHIHG A MAQ a6l & M, 'Q ) g % West becon
i " 11' ¥ ’

11. M +Qr means M is the wife of q; !M.-Q' = 31& g -ra; -"Mf' Q’ H -ﬁqmt' {.]} Nortl
/M—Q means ‘M’ is the father of ‘Q MxQ 1 ad M, Qg (2) Nortt
‘Mx Q' means ‘M’ is the daughter of ‘Q'’; QT s ¥ FE M, QTG L
M+Q' means ‘M is the son of ‘Q" : qﬁA-;-BxJ-i-U"D%?h'B’ D gy
If A+ Bx]+U-D, how is ‘B’ related to D'? 7 (4) East

1)

(1) Bfother

) Gister (2) w1 Three state
lusiol
(3) ﬁ conc UISID
(3) Aunt Assuming
(4) Mother (@) ::_ley sec;m1
own fac
f5F . logically fc

12. Three statements are given, followed by three | 12. < i s frg e mwm
conclusions numbered I, IT and III. Assuming sie 11 few me #1 S I fag ™ ﬁm Statement
the statements to be true, even if they seem A & =R A W g e @ i i
to be at variance with commonly known a1 Fotr it fiF fag o fremdf H 44 1
facts, decide which of the conclusions /8 e | afdw w9 | Feer /€ 2. Som
logically follow(s) from the statements.

Statements : HYA : By
1.  All pinks are scarlets, 1, gt e, T O (feE) € Conclusio
2.  Some scarlets are blues. 2. %O @e G, A €l I S
3. No blue is brown. 8. i o i ‘iﬂ"[ﬁ%l ST
Conclusions : Tremy - :
/1. Some browns are blues. L gBqded 0L Som
II.  No pink is brown. I ﬁ‘ﬂﬂaﬁwﬂﬁ%l IV. Som
III. Some i .
S A I %o o o (siifea) e §1 (1) Onl
(1) Only conclusions II and III follow, (1) Wﬁ'ﬁﬁﬂ&fﬂm 1 @ Ont
(2) Only conclusion I follows. 1
(2) e e 1 foememen ¥
~(3)  Only conclusion III follows. @) 3 L " “(3)  Only
(4)  Only conclusions I and I follow, (§) e Prerd 1 ot 1 2 ¥ (4)  Only
PGT-COM-2023 m 6 a;~COH-2023




s If North becomes South-West, then what will
West become ?

1) North-East

(2) North-West
A3) South-East
(4) East

4. Three statements are given, followed by four | 14.

conclusions numbered I, II, III and IV, |
Assuming the statements to be true, even if
they seem to be at variance with commonly
known facts, decide which of the conclusions
logically follow(s) from the statements ?

Statements :
1.  All boats are fishes.
2.  Some fishes are rivers.
3. Some rivers are sailors.
Conclusions :
. Some sailors are fishes.
Il.  -Some boats are sailors.
HI.  Some rivers are boats.
IV. Some fishes are boats.
(1) Only cont;]usions Il and I follow.
(2) Only conclusion IV follows.

) Only conclusions 1, I1 and IV follow.

(4) Only conclusions I and II follow-

2 IT-COM-2023 m 7

o ‘e, ‘efu-ofem’ @ S & @ e
7 8 S ?

(1) -

(2) S
3) =for-gd
4 ¢

Hi 7w fau o § R we 9w freed
[1I, I 3R IV fRe e #1 STae e 9
AT & = 3 g i e | e = A
3ir o forcta s fip few T frepdl & @ HH
T/ wort | wihE w9 F e #/¥2

A :

1. 4t 7 wefaat €1

2. o wefewE A ¥

3. g® el o €|
e

L % i wef ¥

. %O 7E s g

Fo Aed 7 €

V. F° wefer & €

(1) Faw frend 1 i mn frerer #)
2 Faw frewd v e ¥
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() Faa s L 11 3R 1V frerer ¥
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15.

16.

PGT-COM-2023 £¥8

ertion (A) and

Two statements labelled as Ass s

Reason (R) are given. Consider both
statements carefully.

[ndia has the potential to
make its Handicrafts
industry a very flourishing

Assertion (A) :

sector.

Reason (R):  India is a home to a very
large number of craft forms
including textiles.

Select correct answer with the help of code.

‘(I] Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(2) (A) is false but (R) is true.
(3) (A)is true but (R) is false.

" (4). Both (A) and (R) are trtie and|(R) s the

correct explanation of (A).

Eight friends ], K, L, M, P, Q, R and S are
sitting around a square table in such a way
that all are facing towards the centre of the
table. ‘L’ sits in the middle of the side. ‘P is
second to the left of ‘M’. “Q’ is exact right of
‘K’ and is sitting in the middle of the side. ‘P’
doesn't sit with ‘L". ‘M’ sits exact right of ‘J’.
Two friends are sitting in between ‘M’ and
‘S’. "R’ is second to the left of ‘T". ‘S’ is exact
left of ‘L. ‘K is third to the left of ‘1",

Who sits fourth to the right of 'K’ ?

1 P

(2) R

@) s

@ 7

15.

16.

2 o fog T T gy
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M) S T P g
a@mﬁﬁmmi '1;

#2 few T F2 P TEHT F T 3w, ’:j’
Ead i
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et = T R ()

3

2) (A) e € 9% (R) FE B ((4))

(3) (A) W& & R (R) T &

(4) (A) ST (R) S T E AR, @ Apg
Fﬁm%| Ther
W, X

day |
S A, K, LM P, QRIRSTT

i % S SR e R @ A E w0
B FEH ARG L o F A
&1 P, M % it oiR g wmwaat @
K % THeH IR SR § iR yon & 497

BRI P, ‘L’ F Wiy e da & M1 ()
UFEH R AR A1 | M ol FAT (@)
FSFIR, T e ol g e wadt

LS e Ol sig dar 1K, LR ()

Y T W Ay (vi)
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7 A statement is given|fpl'lowed by four
conclusions 11umberuc%.[,.li. 111 and 1V,
Assuming the statement tobe true, decide
which of the conclusions is/are definitely
frue. { a)

18.

Stafement:C =R>D€E=K>p

Conclusions :

I )|

% CcC>D
1. K=D
1. P<E
. E2R

) Only conclusions I and 111 are true.

) Only conclusions Il and IV are true.

(3) Only conclusion IV is true.

(4) Only conclusions i;ﬁa‘pc% Il are true.

N

A patient has been given a".'jhﬁdicine schedule.

There are eight medicine eapsules. S, T, U, V,

W, X, Y and Z. Which hdve to be taken each

day based on the followifig donditions :

(i) Capsule ‘S" must bg;ﬂéﬁken sometimes
before ‘T’ and 'W’,{i___]

(i) ‘T’ must be taken immediately before
"V‘,

(iii) Fourth capsule must be U,

(iv) ‘Y’ must be taken immediately before
.txf,

(v) ‘Z' mustbe taken immediately after W',

(vi) ‘Y is the first capsule to be taken,

Which of the following a ents is false ?

(1) ‘U’ must be taken theen ‘¢’ and “T'.

(2) The sixth capsule must be iV

(3) ‘T is taken immudw after 'S',

(4) ‘X is taken before @:h'i}l

) (")
GT-COM-2023 m s
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11 & v e &) o g W g
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forerd Fifvem &0 & el /82

®M:C=R>D<H=K>P
forend

L. G

. K=<D

[, P<E

IV. E=R

(1) 3ot Fremd | &t T B
(2) et Frerd 11 i v W ¥
@) e Frowd IV 5 ¥

(4) St Forerd 1 @i 11 T €

oo Y ) e e el A T | T S T
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ﬁmﬁr@amﬁ%mmmmmmaﬁ
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(i) TV R R e e S

(i) e HeE (U7 € e
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19.

20,

. ; r lwo
1 below is a question, followed by ¢

Giver :

statements 1 and 11, each containing some

information. Decide which of the gtatements
is/are sufficient to answer the question.

How is Kushal related to Meenakshi ?

Statements :

L. Kushal is only son of Meenakshi’s
brother-in-law.

. Garvita is Kushal's only sister.

(1) The statement II alone is su fficient to
answer the question while the
statement I alone is not sufficient.

(2) Both statements I and II together are
necessary to answer the question.

[(3) Both the statements [and II together are
not sufficient to answer the question.

(4) The statement I alone is sufficient to
answer the question while the
statement II alone is not sufficient.

Select the letter cluster that will replace the

question mark (?) in the following series

BVU, ZXQ XZM, VBL, TDE, __? .

(1) RFA ‘
(2) FAR
(3) FRA
(4) RAF

PGT-COM-2023 %
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21.

1 i 3
Refer to the fo lc-\wmg letter sequence and
answer the question :

Left) SBTMRESICZY(}\'\':‘\I"DFH
G U L (Right)

Which letter is fifth to the right of the twelith
jetter from your right end of the given

sequence ?

M X

B T

@ W

@ R

Lakshmi starts from point ‘A’ and travels
2km Southwards to a point ‘Z’ and then turns
right and travels twice that distance to reach
Y. She then turns left and travels five times
the distance she covered between point “A’
and ‘Z and reaches point ‘X’. From there
she turns left and travels 4 km to reach
destination ‘B’. What is the shortest distance
between the points ‘A’ and ‘B’ and what is
B's direction with respect to ‘A" ?
{1y 12 km, South
(2) 8 km, North
() 8 km, South

(4)

12 km, North

Jm'm'-l-zoza

2]

11

e

Freifafiad e F arEeEa Hi S T
ESi T

(a) SBTMRESICZYOWAPDFH
G U L (&)

i Ty s @ SR d el e
et 3iw uf=ai se e @ g ?

1) x
2 P
3)

4 R

et A7 farg | e T S & S e
3 2 o3, e ‘27 faeg TR e @ 3R Rt
T SR g & e et AR g Wi gl @
T 30 T Y g W e ® 1
e 5% A S P € A A HRZ g
i 7 I 0 R Ui g T w5 X
forg WU &1 FE & 9% A S T § S
4 T, = ‘B’ oA o Ugedl 81 ‘A7 3T
‘g fargaii & i <gmaw g0 fea E A ‘A’ |
B iFafamd g2

(1) 12 fws, <o

2) 8fHH, ST
(@) 8f&d, <fm

(@) 127FH, SW

Q2




R T, X and Y are
h facing towards
diately left of '
‘R and ‘P

93, Seven children K, L, P,
sitting on a straight benc
Notth, ‘X’ is sitting imme
/T is the immediate neighbour of

5 LV vy the immediﬁte
Neither ‘X’ nor "Y' are "
neighbours of ‘L". P is sitting second to the
left of ‘L.

Who is sitting at the second position from the
right end ?

@ T

@ K
8) P
4 R

24, Given below is a question, followed by two

statements I and II, each containing some

information. Decide which of the statements
is/are sufficient to answer the question.

Who is to the immediate right of ‘J" among

five friends J, K, L, M and N, facing the

North ?

I. ‘L’ is third to the left of ‘K’ and ‘]’ is
second to the right of ‘L.

II. ‘K is to the immediate left of ‘N’ who is

second to the right of “J'.

The statement II alone is sufficient to

answer the question while the

statement I alone is not sufficient.

Both statements I and II together are

necessary to answer the question,

@)

@
(3) Either statement1 alone or statement I
alone is sufficient to answer the
question.

(4) The statement 1 alone is sufficient to
answer the question while the

statement II alone is not sufficient.

PGT-COM-2023
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TwoO statements labelled as Assertion (A) and
Reason (R) are given. Consider both the

% gratements cavefully.

Assertion (A) : Fake news spread in world
has become a serious
problem.

Reason (R) : The internet is source of all

fake news.

select correct answer with the help of code.

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(1)

@ (A)is false but (R) is true.

(A) is true but (R) is false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

4)

6. Which of the following Venn diagram

represents the best relationship between

Teachers, Sisters, Females ?

25,

26.

s e e o o aferRar (A) S
aﬁa(m%mﬁMﬂm%lﬁaﬁeﬁ‘imﬂnﬂ
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e =Ten T €|

mw%%(n}u@ﬁl
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(&) @it (®) A @ T AR), (4) F
@ = 2 |

(3]
3)
(4)
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27.

are
Three glatements are

conclusions [ and IL Assuming lll:.lel
gtatements 10 pe true decide which of the
;wwlusiuns is/are definitely btrue.
. Statements
1% M> Q
e M
3 N=M
Conclusions !
xk Q=N
e o<sE

-

() Only conclusion II is.true,
(2) Both conclusions I and Il are true.
(3) Neither conclusion I nor Il is true.
(4) Only conclusion I is true.

given followed by two 27.

28. Study the given diagram carefully and 28.
answer the question. The numbers in
different sections indicate the number of
Persons.

8\&\12 Married

Under 35 Years
How many 'En_d_e:; 35 years’ people are
‘Salaried’ but not ‘Married’ ?
o
2 12
(3) 13
(4) 5

&
PGT-COM-2023
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P )
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(1) e frerd 11 T B i
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@) = foremd 1A ¥ MR A4 fred
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S T
7 :
8 \ 12 .
17 |
3594 & FH
135l & ' ot 13
& fig o’ e 2
1) 8
2 12
(3) 13
4 5
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gudha is the wife of Anand. Kavita is the
) mother of Gaurav. Anu is the daughter of
Ravi, who is the brother of Aryan. | Anu's
mother Kavita is the daughter-in-law of
Anand. How is Sudha related to Aryan ?

(1) Mother

(2) Paternal grandmother b=
(3) Maternal grandmother

(4)

There is a family of six members E,I%, L, M,
N and P. They are Lectur ' ",II":'T.IArtist,
Businessman, Executive, NGO worker and
Singer but not necessarily in the 3?%? order.
There are two married couples. ‘N’, a
Lecturer, is married to the Artist who is the
mother of ‘L’ and ‘P’". ‘P’ is purmg?gmgmg
‘D’ has one son and one grandson'who is an
Executive. 'K/, the Businessman, is married
to ‘D’. Of the two married ladies, one is a
NGO worker.

Which of the following statements is true ?
(1) ‘M is the Executive.

N
N
()
o, §
)
(@)

(2) ‘M is the Artist.
5

(3) ‘L’ isson of ‘D’ and K.

(4) ‘K is the wife of ‘D'

15

30.

(2)
(3)

(4)

T &1 P TEE i 9eE W W@ 8| D R GE
T it TF G ¥ S U T ¥ K T
FRER & foge faame D & g ¥ < faenfea
Afgenel § | uw e FEEH € |

Frfafan | S o %u 96§ ?
(1) ‘M T FEH g
2) ‘M TH FAHK €|
(3) ‘L,'D a9 'K F A
@) 'K, D %I e R
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31. Which of the following does not come under

 cyber-crime under IT Act 2000 ?

.(\1) Distributing child pornugl'“}’hf" ovesE
internet

(2) Misusing personal information over

internet

(3) Using fake email messages to get
personal information

.(4) Stealing monitor from a store

32. McAfee Flus is an example of :
(1) Application software
(2) Open source software

(3 Programming Language
(4) Ant-virus

33. Outof the following options, the most popular
combination of shortcut keys to Copy Some
selected text in most of the MS windows
applications is ;

(1) Cul+0
(2) Cul+p
(3) Cul+x

) cul+cC

PGT-COM-2023 ﬁ
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32.

33,

QEFW Wﬂqﬁ?')

(1) '52(7?3 Hl sl mr'v‘-]:r;;
{Pgm(fgraphv] foafa =y

ga—i'gzq'( SfeRTF 535"-'3’7%

(
(3) S TR T F ¥ g,
-3 (fake email) HE9 % iy

(4) Torel TR E A g0

(2

#HH wE (McAfee Plus) e

87 -
L

(1) qmﬁ“@'—l WA (Applic
Etkire)

@) aﬁﬂ@.,m‘m' FIRFA (Open s
softyeate)

(©) Fﬁ'ﬂT&V\&*ﬂﬁ (Programming Langs

@ @ (Anti-virus)

AR o feid (MS window: 5}7!“"
¥ 9 YoRe Tvw 3y ‘g 50T

Fefaten fased & § waifys o

WEFT R e s §?
1) Cul @
(2) Cul¥TP
(9
3) thl(‘ﬁﬁ
@) cm¥c
)

(4)

Whic
owne



icatil

which of the following software you
p,.grerred most to design an animated
multimedia presentation on the topic ‘Benefits
of Renewable Energies’ ?

Microsoft Word

(M

(2) Microsoft Excel
9 Microsoft PowerPoint
(4) Microsoft Edge

Which of the following cloud storage service
owned by Microsoft ?

(1) One Drive
(2) Floppy Drive
(3) Google Drive
(4) iCloud

The power backup device, UPS, stands for :

(1) Under-controlled Power Supply
42) Uninterruptible Power Supply
(3) Uninterruptible Power System
(4) Under-control Power System

Which of the following is not a source of the
virus entering your system ?

(1) Hard Disk
(2) Pen drive :
(3) Printouts \

Email attachment

“)

34,

35,

36.

37.

-[[qﬁﬁ’&[' fagg T TH
s st F F T
aqr Fereffi # 2 7 A W G
refererar &1 2

i S T
e SV

e 78 (Microsoft Word)

HrEsRrETTE e (Microsoft Excel)

I EE Ak T qracEEe  (Microsoft
PowerPoint)

TEEEIRE TF (Microsoft Edge)

1)
(2)
@)

(4)

e & i e FEe i W
Pttt 3 4 A &2

M
@
®
@

One Drive
Floppy Drive
Google Drive
iCloud

TR AT ST HCE (UPS) & ¥ :
(1)
®
©)
@

Under-controlled Power Supply
Uninterruptible Power Supply
Uninterruptible Power System

Under-control Power System

Frefefea # @ = @ R fowew o ama &
T 1 T HA Tl & 2

(1)
2)
®)
(4)

#¢ fewh (Hard Disk)

U9 €& (Pen drive)

fizssed (Printouts)

$-7d FFewie (Email attachment)




g is an example of an
1

Which of the followin
Operating System 7

38.
(1) Edge
2 Word

[3) Windows

(4) Bing

39. Which type of network we create when we
connect two smartphones to transfer some

photos through Bluetooth ?
(1) WAN
[2) PAN
(3) LAN

4) MAN

40. Which of the following groups of devices are
only input devices ?
(1) Mouse, Microphone, Speaker
(2) Keyboard, Printer, Light Pen

A3)  Joystick, Microphone, Scanner

(4)  Mouse, Monitor, Joystick

PGT-COM-2023 E

38.

39.

40.

(1
2
@)
)

A | & iy
(Operating System) 1 TH %;‘

T (Edge)
11.

=% (Word)

f48s (Windows)

fam (Bing)

& &9 92 (Bluetooth) & T4,
o ¥ for < TSR B AT s,
& g TR F TR M AR

@)
@
@)
@)

i T T (PAN)

T T (WAN)

THA T U (LAN)

T T T (MAN)

- TrfefEs # | Syl 1 S 9

T feama (Svem) #?

(1)

@)

®)

)

HISH, HIg®IwIA, wt
Microphone, Speaker)

Fr-are, fimr, wmwe 9 (K
Printer, Light Pen)

S, e, @ (0

Microphone, Scanner)

IS, Wiftex, ifafies (Mouse !
Joystick)

42,

—
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"lﬁ.
3 PART - IV / ¥ - IV
TEACHING APTITUDE / fnaror aiftaft
41. Mohan can now think in terms of | 41. ﬁiﬁmmﬁ#aﬁﬁmmtﬁﬂﬂﬁ

propositions and deal with propositions F arien dremrel ¥ =EEr FEHA b |
! instead of objects. He deals with sum total of vt aeRE ¥ aer wrE Fug=a 4
1' possibilities rather than empirical situation. e w1 o faer # SF= A
1 He takes final steps towards versatility in FEw o 8

thought.

Mohan is at which stage of Piaget's model ? T, fam & wfAm & SER N e W W

2

(1) Sensory-motor stage (1) zheg-sifm e e

{2) Concrete operations stage (2) T sframa HeE

(3) Formal operations stage (3) g wisharHEs AT

(4) Pre-operational stage (4) TE-WiRAHE STEE

42, Which one of the following is not associated | 42. Fpifea © & FF o1 UF THE TE § g

with a unit test ? T E?

(1) Confined to limited number of (1) TSt S S T IR
competencies

(2) Totally controlled by the teacher 2) T g ola: FEt

(3) Used for Remedial purpose () STERTE F &g W

(4) Standardized Achievement Tests (4) WIS S T

43. What is not an advantage of Discovery | 43. wre ot | 9 T ey TE B e ?

method ?

(1) It develops scientific and critical (1) =% g faefdat 4 defs s
attitude among students. TR A AT 5 faww a

(2) It provides training to prepare students 2) % faenfEl = siem % fog 9w e =5t
for life. ST HE I g

(3) It develops self confidence and self (3) THF BN A IR SR w5
reliance. Toremre B B

(4) This method is suitable for the students (9) e fafy o Fael & famfddi ¥ fau
of lower classes. EXEiif |

PGT-COM-2023 ﬁ _ 18 Q2




44.

45.

46.

eristic does not belong to

Which charact
Adolescence stage 7

of
Forming groups among members

same Sex

(1)

A period of intense emotions

(2)
)

Highly critical of social evils and
injustice
(4) Pronounced group loyalty

Which of the following is not an example of
*Assessment of Learning” ?

(1) Assessment of Homework
2
(3)

(4)

Scholarship Examination
Anecdotal Records

Annual Examination

The ASSURE model of integration of ICT in
the learning process has the components :

(1) Activity, state the objectives, support
and extend.

(2) Analyse the content, state the aim,
select method and materials and
evaluate,

(3) Analyse the learners, state the aim,

select the method and materials and
extend.

A4)  Analyse learners, state the objectives

select the media and materials and
evaluate,

PGT-COM-2023 %
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‘e ﬁ@ﬁﬂaﬁﬂﬁﬁmﬂﬁ‘?ﬁmh

45.

46.

1. Which
(1) Wﬁﬂ%ﬁﬂﬁﬁﬁl"ﬁma% charact
1 U
d
(@) T T T F gy ]
¥ 2 WA |
4) 1
(@) T e vEsa e %,
3. Effect
e § & BT S % o ‘(’:)
FETEV TE B 7 o
(1) TEHE H ST p
(2) g wda @)
(@) wudr sfuerE 9. :z:::
(4) @t qdEn (1)
(2)
st 9 # gE ik i deEiw )
FH= % ASSURE WM ¥ aewd &
(1) Forem, St e, e ot (D
(2) ﬁmﬂ =l Wﬂm. e 'F‘meu fg 1 st
WWWW aﬂ-{wl stud
1)
() eHfirTerist 1 fayemu, ez i @
fafy st smmft o s o faer|
3
(4) ﬂﬁmﬁsﬁmﬁq@mmﬁmﬁ? s
AR S Greht 5 e SR
SGT-CON

(




a7, Which one of the following is not a | 47,
characteristic of teacher centred approach ?
(1) Unfamiliar or abstract concepts are
directly explained by the teacher,
. () Enough scope fordiscussion and debate
| is available,
- }i (3) Courses prescribed can be completed in
time. A
! (4) Large sized classes are handled very
' well. \
.%;'48. Effective teaching, by and large, is a function | 48,
of :
[ | (1) teacher’s scholarship.
| Q) teacher’'s positive attitude towards
teaching,
(3) teacher’s ability to make students learn.
(4) teacher’s honest%g.;
What should not be a tc_fj&nf a teacher in the | 49,
construction of knowlédge by students ?
(1) Supporting gf@perative and
collaborative learning in the classroom
(2) Focussing on rqé!fﬁ:tic approaches to
solve real world prok lems
(3) Discouraging 5§H\Pna1ysis and self
assessment
(4) Being sensitive to the previous
experience of each and every student
in the class
f? 50. If students are not taking interest in their ; 50.
| studies, the teacher should :
(1) tell them that taking interest in their
P | studies would lead to good result.
| (9 fileacomplaint with the principal and
| parents and seeK their indulgence.
h (3) find out causes Eﬁfhck of interest and
T take corrective rhdagures.
(4) ask them as to why-are they not taking
interest in their tudies.
3 N
PGT-COM-2023 N 21

ﬁw#ﬁawaﬂﬁmﬁrﬁﬁﬂﬁﬁﬁ‘ﬁ

stafeP st ard werd fe BT
iy e T S €

(2) Wﬁ?m—ﬁaﬁﬂmmmﬁ
@) fofe el 1 e T F S
e € | .
(4) a@fmﬁﬁﬁﬁwwma
STt ¥ |

e yoeh faern e T ¥ 7

(1) e w1 s

@) ﬁﬁﬁﬁmi‘ﬁﬂﬁwﬂieﬂfﬂqﬁl

3) ferenfef e 0 T B AT

(@) Torer =t =

foranfeidi gro 9 1 T w0 H e

i it e T BT ATed ?

(1) e B e T wenfargel e
! e qEH Hl

(2) s fea =1 gaenel ¥ wEEE T
FRAfE STHI R HEH

(3) TSN o TEEAHE i e ST

@) = % yos faEml % Eigya F fa
EEEGHI

fe; Tt 7ot et W v T 1 @ ¥ o e

)

(1)
2)
®)

@

% HHE weT 6 T W em |
3T TIRTH W B |

yeE SR ST w9 e
A ST HEATRT F /T B

S TG T w9 F o % BRI S gl
TR YERIC Shiars i |

Y g 1fen 5 © e § s b
AwWEI
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51.

52,

)
)
@)
(4) ¥ 5,20,000

&
PGT-COM-2023

paRT -V / 1Y
COMMERCE /
51.

it
on :

She draws a Dbill Vijay
:1::: :1: l:?ﬂ.’!i.’ for T 40,000 for 3 months. ;”:)EI‘
pill is discounted with bank at a .clml;gt.the
% 200. Bill is dishonoured at maturity. n :
books of Shekhar, for dishonout, the ban

account will be credited by ¥
1) 40,000

(@) 40,200
(3) 39,600
(4) 39,800

‘Tara Motors limited” purchased Machinery
from “Usha and company” for ¥ 4,00,000. The
consideration was paid by issue of 8%
Debentures of ¥ 100 each at a discount of 20%

the Debentures Account will be credilec?
with's

T 5,00,000
T 4,80,000

¥ 3,20,000

52.

22

Balance ¢
15@3202#'%@?51%?1“1?10’% as on M:
ﬁﬁﬁm%@w' maﬁ?zm%} Donatio
ﬁﬂﬂﬁlmw' qu?f%m Tournan
| SAIGE U AE TR A iy Jear 207
ste5 T b ST TR ST, gy

- Expendi
Tournar
2021-22
1) 44,000 Interest
Tourna
(2) 40,200 during
Calcule
600 which
® o at Mar
\ ) ]
(4) 39,323;}1;' 1)
(1) @)
. g,) :
q;:f?f:' @
e s s 3 g
I T ;Ihﬂt?r | WferoRet 1 ST 100
AT 8% FOTHT & 20% o W friw §54.  Raju,
o1 7721 | T @ ey s e W sglan
eve
decid
three
of la
(1) % 5,00,000 § T 57,
Deve
2
@ T4 lg:ggo S a
) @
@) 320000 & o
(DS 5,E h @)
i
— PGT-COM




[:‘:53 Balance of “Tournament Fund’ T 53.
i as on March 31, 2021 : 2,40,000
0 £y |
S Donations received for 48,000
T Tournament during the
: year 2021-22 :
{ Expenditure incurred on 54,400
: Tournament during the year
1 2021-22 :
Interest received on 19,200
Tournament Fund Investments
: during the year 2021-22 :
]: Calculate the amount of Tournament Fund
3 which will be shown in the Balance sheet as
| atMarch 31, 2022
(1) < 2,32,000 ‘——’}_‘7,1‘;'('9, bere
egeo
@) ¥ 288,000 o
It = 03 2400
‘ (3) 252800 sy Yoo
:i 152§ 00
;, ) T 2,94,400 d
10,0
g1 54. Raju, Jagbir and Devender are the partmers | 54.
- sharing profits in the ratio of 7 : 5 : 4.
Devender retires on June 30, 2022. It was
decided to value the goodwill on the basis of
three year’s Purchase of the average profits
of last five years, which are ¥ 59,200;
¥ 57,400; T 57,800; T 48,000 and & 53,600.
Devender’s share of goodwill will be :
22
(1) < 55,400 59209
sF4 ﬂ‘é
) 165600 5% 300
ug
- ﬂo
3 36
(3) ¥ 54,000 %’6'55
1=
@) 41,400 = o
\
s 2z00
PGT-COM-2023 % Bans
bt x i

T

=l fafa
:i;‘:i 2021 2,40,000
o 2021-22 ¥ S gitHe € 48,000
T g ¢
i 202102 % 2 e W fRd 54400
T =

ot 202122 3 e e fifts e 19,200
T g =7

31n1%i,2022%gaq—ﬁﬁmh°raﬁﬁﬁﬁ ZHiHe
fofey 1 fer TR WA

@) ¥ 2,32,000
(2)
3)

(4)

T 2,88,000
¥ 2,52,800

T 2,94,400

T, SRR 991 SH= 7 : 5 : 4 6 STHAE H AW
wied aTet WEER € 130 S 2022 % S HATHN
TR wal & | 98 Tt fre e 6 free o ol
& mHl, S T 59,200; T 57,400; T 57,800;
¥ 48,000 1% 53,600 ¥, F 379a & 14 o0 &%

STHR 9T SAM ol i foHam = |

<o & fed =t =nfa i

(1) T 55,400

2) T 1,65600 9—1

(@) T54000 \ o

(4) T 41,400 }t{
Q2




'an x and Y are parin

Iwru(itﬂ and
000

ers sharing
2. X's capital is T 60

: - 3 _-‘ .
sses in the ratio of3: o
: al is T 30,000 before adjusting

and Y's capit Miie

revaluation loss of 7 14,000 and G ,
Reserve of ¥ 24,000, They admitted Z amz
agreed to give him 1/5 share of profits.

will bring proportionate capital. Calculate
his capital. :?ﬂﬂ’,g;;

(1) ¥ 29,000 100,0°0

(2) 22500

(3) ¥ 25,000

(4) T 24,000

56. - Income and Expenditure Account is prepared

57.

by ‘Not-for-Profit organisations” on :
(1)
(2) Cash Basis

(3) Accrual Cum Cash Basis
@

Accrual Basis

Receipt Basis

A firm started its business on April 1, 2021.
Accounting information provided by the firm
for the year 2021-22 is as under :

Purchases: ¥ 1,80,000
Carriage : Z 12,000
Closing Stock : ¥ 24,000
Sales : % 2,40,000
Calculate the Grosspmﬁlfgrme},ear 202122 -
(1) 60,000 — 244
(2) T 84,000 {72,000
(3) T 76,000 P2 O8
) T 72,000

56.

S -

gl

ﬁmmﬁ \

T Hy

=5 7 60,000 a4q1 Y =t 13'1 ?3(!'_000?4 . can

P i H & A S,

4% .. 5y (1)
¢ T e ¢ | Z S Tt ey

Disc

£
e oft wfEnferd FITY @
(3)
(1) ¥ 29,000 )
@ 22,500
(3) < 25,000
@) < 24,000 %
in
T

me‘m_mm,hﬁ

SIS : 2
(1) SISia 3R T ;:c;
(2) S AR W £
(3) SUIfSid Td IS AR T o
(4) it SMER 9 4

(3

T A A 1 S0 2021 F HoEE W
¥ 2021-22 3 W g1 Pt sams O
W i T

a % 1,80,000 A
<R T 12,000 e
Sifew @R % 24,000 2
e T 2,40,000 g
aﬁzozl-zzgammqﬁﬁmm: !
(1) % 60,000 i
(@) % 84,000 ;
®) T 76,000 (
4) T 72,000




3

) Discount on the re-issue of forfeited shares

can not exceed :

(1) 10% of the paid up Capital
(2) Theamountreceived on forfeited shares
(3) 10% of the Capital to be re-issued

The amount not received on forfeited
shares

@

Anil, Bijender and Charu are equal partners
in a firm having capitals of ¥ 60,000;
g 40,000 and ¥ 20,000 respectively on
March 31, 2022. On the same day Bijender
retires and took away an unrecorded
comptter for ?lZ,Dﬂ{]. ICalquate the balance
amount shall be paid to Bijender on his

retirement.

- i
(1) ¥ 40,000 fos vhiom 0
(2) 52,000 i
(@) ¥ 56,000
(4) T 32,000

A, B and C are partners fharing profit and
losses in the ratio of 3 :2: L. B retires and

54, @i aﬂﬁﬂ:qﬂﬁ#ﬁﬂa@aﬁﬂﬁﬂﬁﬂﬁ sfferR

A6 B T -

was sh = 10%

e sl T W af
Eqﬁhfﬁﬁﬁ;fﬁﬁﬁﬁi‘_&ﬁﬂ'lﬂ%
e 3y ™ apyre e

(1)
()
)
(4)

59. aﬁa,ﬁaawawmﬁagmﬂa:ﬂmm%
qer 31 ®TH 2022 1 ST g w
% 60,000; T 40,000 T ¥ 20,000 gt | E'Fh_fﬂ:l
Fesrs 3 e e feRar G £12,000 5 TH
srfefEe e o T foasrs & S9N
mmaﬂwﬁﬁaﬁaﬁﬁ%ﬁrﬁqﬁmﬁﬁ

Hif=g |

(1) % 40,000
@
@)

() 32,000

X 52,000

T 56,000

A BRAIC3:2:1% SIE § wny-aif aled
ST TR €1 B Sy TR S € a0 319
el F @ & ©YH AW T40,000TH CH
% 24,000 WISl T &1 A T C o #rel 7 -
fawIer ST B0 :

)

60.

A7

e @) 94

%
@

19:9
a4

8:3

acquires ¥ 40,000 from Aand ¥ 24,000 from
C as his share of goodwill. New profit
Sharingrati.ooanndeﬂlbe ;
23£= 'E- i -E‘::
@17 7 z’ & ‘f;’ ed O &
xZ% 2.2
2 : 4 fe 3,8 Zr 60
(2) 9:4 3 208 &
(3 19:9 ré-h’_fz’-rifﬁ
g
4 8:3 &

JL

—




00 in the Balance sheet

Creditors worth
an unrecordel:l pssel
at and remaining
5% less amount.

Creditors are T 50,0

of a pnrlnership firm.

10,000 agreed to accepl

of T 8,000 in full settlemet
editors agreed to accept ’

galculate thge amount will be paid.tc creditors

at the time of dissolution of lB.E ﬁ{ﬂ“ 7

(1) T 47.500 40 d

2) ¥38,000

(3) T 35550

(4) ¥ 57,000

61.

1f 10% Debentures of ¥ 1,60,000 are issued to
vendors in consideration of net assets of
% 2,00,000; the balance of ¥ 40,000 will be
credited to :

(1) Reserve Capital
(2) Goodwill

£3) Capital Reserve
(4) General Reserve

62.

2,000 00

1pd o000
ey @20

63. Which of the following test should be
conducted to identify the strength and
weakness of the students in an area of study ?
(1) Achievement Test
2

A3)
)

Diagnostic Test
Aptitude Test
Reasoning Test
64.  What does the drive namely “Operation
Blackboard” as envisaged in the National
Policy of Education, 1986 imply ?

A1) To provide essential facilities to all
educational institutions

To provide essential facilities to Prim ary
schools

To provide Blackboards for P
schools

To provide Blackboards tg g
schools

@

&) 7

ECDndary

@

PGT-COM-2023 %
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61.

62.

63.

64.

wH & G- gy,

E € (0000 hiiadly “:ﬂﬂrpl. i
quﬁmﬁmﬁliﬁﬁ‘lﬂfﬁ‘mq% I, Whllch i"l.}‘,i.l
e T Ay e
mﬁﬁﬁ%%*%mé Education 1
gt (1) High
-1
(2 ¥38000 ( _
@) Z 35,550 (4) Nati
@ X 57,000
5. Eklavya M
#fe € 2,00,000 %1 Y% Ul & Y ~ are meant
3 fapaet H T L60000H 1055 (1) ST«
fiF3 s, 71 T 40,000 T I TfY figs
=, 33'%0 2) SC
(1) W'ﬁﬁ (3) sC
(2 mﬁl_
@) Tt @) sC
(4) @A HEE
et e &= F e & W) split-Hz
HHSHA e 8 FE A AR pich
T =Mey ? ez
(1) Syaf= e M v
(2) e wlE b,
(3) izl wem
(4) o e Bl
4 C
T e +ifs, 1986 § uftwfew 7
RIS Tk S RS, As pe
Educa
(1) mﬂ%ﬁﬁmﬁﬁaﬁaﬁgﬁﬂ percel
A Educa
() afi i R G (1) ¢
= e
@) mmmﬁwﬁl )
4) ¥¥eh fraei = mmﬁ! (4)
PGT-COM-




Which agency is proposed ta be sel up to
catalyze and expand research and innovation
across the country as pér the National
Education Policy, 2020 ?

o

Higher Education Grant Council

(2) School Education Commission
(3) National Innovation Mission
(4) National Research Foundation

66. Eklavya Model Residential Schools (EMRSs)
I are meant for :

e o)

ST students in remote areas

2
®)

5C students only
5C and ST students only
|
5C, ST and OBC studﬁrklt_srlordy

)
ey

*)

Split-Half method is used gfdg",’detemﬁlﬁng
i which of the following characteristic of a

’ 65.

66.

e "
(1) Validity -
(2) Reliability
(3) Objectivity
(4) Usability
? 1 68. As per recommendation of National
Education Policy 2020, how much
percentage of GDP is to Ibe_Hinveated in
Education Sector of the com: j"’
- &
.~" (@ 2 it
G) "8 gV
i (4) 5 {:}?

PGT-COM-2023
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67.

68.

fopan =i, 2020 3 SR T  STEY
:‘Taﬂﬁ?‘mﬁﬁﬁﬁqm spfiqepor =h1 TATE
0 et srenfera 7

(1) s fan SR TS
@) feraer faren 1T
() T ST FRE

e witee s faeer (EMRSs) € ¢

Wﬁﬂmﬁﬁﬁaﬁﬁ%fﬂaﬁﬁi
&

Sy i e 3 ferenfefel &9

Srerer e S 9o ST S
% feemfelt €4

el srggtan S, S e e
1 e o o fenfeei &9

)

2
®)

)

el oy =t o 2 foh ferdrer =y frreteon
=0 3q fava (feee—ar) fafe 1 s
T ST € 2

@ A

(2 fazagdEm

(3) TS

(4) sSTEfT

Tt e +fifd, 2020 Fi AT H SHTAR Fehel
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Forarer foen T B2

)
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@
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| ot
5058 is conducle
Formalive assessment 1

or student learning

69.

(i) monil
(i)
(i) 1

: e
(iv) know the position of a student in th

ovide ongoing foedback

Bt

"es8
mprove teaching-learning proce:

gmu 13

i e
Select the correct answer using the cod

given below |
(1)
()
@)
*

(i), (ii) and (iv)
(ii), (iii) and (iv)
(i), (i) and (iv)
(i) (i) and (iii)

Which of the following is a digital
storehouse, recommended by National
Education Policy 2020, for digital storage of
academic credits of students earned from
various recognised higher educational
institutions ?

(1)
(2)
(3)
(4)

70.

Credit Storehouse
Academic warehouse
Digital Bank of credit
Academic Bank of Credit

71.  National Education Policy 2020 is based on

how many pillars ?
) 4
2 3
@) 2
@ 5
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69.

70.

71.
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(1) m“ﬁﬂﬁz ' W % Enrollment ir
(i) T SferTA A gm Y1) 40%
(v) FIE # forl) forenef] 1 ferfy 4 50%
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@ () () 3 (iv) (1) Carri
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i " The aim of National Education Policy 2020,
is to increase the percentage in Gross
Enrollment in higher Education by 2035 to

(1
2
()
@

40%

60%

30%

Which of the following account has a credit
balance ?

Carriage Inward
Carriage Outward #v-
Return Outward rorees fes

Return Inward (5o Rats

Which convention of Accounting implies that
the Accounting practices should remain the
same from year-to-year ?

&)
@
@)
@

Consistency
Conservatism
Disclosure

Materiality

A business transaction affects :
6]
2
@)
@)

.
P -cou-zuza

Atleast two Accounts
Maximum three Accounts
Maximum two Accounts

Atleast three Accounts

T2

73,

74.

29

75.

5 =rd 2035 TR
wfewm afs i

v fen <A 2020 1 @A &
s foen 3 e iR o
ECE
M
2
@)
4

40%
50%
60 %

30%

e 3 P T 1 e 3 A &2

|

(1) = SEED
2)
(3)

(4)

TE] S
ATH SEE
Ol ST

T SEiE ST o STER SEihT SATeR
At THE E =6y, ?

(1) S
(2) wfeatEmm
(3) WIS

(#) ER

Teh A Ao HHITET O &
(1) FAYFA G B
() feERTE 9 T
(3) At & =
(4) 99 HH @\
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due to the

made

Provision [oF Bad Debts’ is

principle of ¢
(1) Full Disclosure

76,

(2) Materiality
)] Consistency
E‘” Conservatism
: 77+
77. Farzana started a business on April 1 2021
with capital of 90,000. During the year
2021-22, she withdraws ¥ 28,000 for her
personal use. Interest on capital and interest
on drawings are T 4,000 and ¥ 10,000
respectively. Profit for the year is 30,000.
Her capital as on March 31, 2022 is :
(1) < 94,000 - 7?“/7}@5 /
10
A2) 86,000 "’f’"{ e
(3) ¥ 1,38,000 f{a:rm
4) ¥ 1,34,000 9001
¢ ) & #¥ a0 2 B
78. That portion of the share capital which can 78.
not be called up, except on the winding up
of company, is known as :
(1) Called-up Capital
L;) Paid-up Capital
(3) Reserve Capital
(4) Capital Reserve
@ Securities Premium Reserve can be used for: | 79,
(1) The payment of Remuneration of
Directors
2) Sl .
y M;agzr};mem of Commission to
(3)  The payment of Dividend
(4) The issue of Bonus shares

PGT-COM-2023 %

W%!%,ﬂoﬁaﬁiﬂ#mm

=2 e TR AT | T 20212034
s fosft FoE ¥ < 28,000 1 sy

¢ = A S T Ty g
?mﬂﬂn,ono%l = % A 2 3000,
-gwleﬂ‘qﬁzﬂnﬂ?laﬂm"rtgﬁt,

g 94,000 (
¥ 86,000 (
¥ 1,38,000 |
¥ 1,34,000

1)
@)
@)
4
i1 oft =1 @ W1 S, <het 5w %
ﬁ'mmﬂﬁﬂ?ﬁmwm,a

¥ ‘
(1) =nfew st

(2) e i

(3) wifem gft

@) Iht vem

iR sferem s ) s o W E 83.
(1) et & Wi o @

(@) e i wwiter sy ¥

(@) i T ¥




§0.

81.

82.

83.

A and B share profits ang losses in the ratio | 80.

of6:4. They admit C for /6% share in profit.

The new profit sharing ratio will be :

) S8 s

—_
el
w

s2:2

At the time of forfeiture of shares, the share
capital account is debited with the -

@)
@
&)
O

Market value of Shares
Called-up value of Shares
Paid-up value of Shares

Face-value of Shares

In the absence of Partnership Deed, the rate
of interest on capital will be :

&)
(2)
(3)
(4)

No interest
6%
7%
5%

‘Sale of Old Machinery’ is credited to Sales
Account. Identify the type of error, if any.

0
@
©)
@

Error of Principle
Error of Omission :
Error of Commission .

No error

PGT-COM-2023 ﬁ

81.

82.

83.

31

gl e 1 @
AamBe;ﬁﬁaamaﬁt-wmﬁ :
ﬁlfﬁzﬂnﬁgﬁﬁcﬁwﬁﬁml BRI

FegvyrerT STATT BT ¢
(1) 8:2:3
@) 9:2:2
@) 4:1:1

(4) 3:2:1

st 35 e 35 e, st it @ A e R
Eﬂ?ﬁ’t‘:

(1) g AR g ¥
@) % afaw g ®
(3) el % wea Ted 4

(@) i & sifea A |

e He ¥ e H, i W e W R
Bt :

@)
&)
®)
)

e =T TR
6%
7%
5%

‘gt Wi % Toma @ famy w@ @ A s
e | ergfe % R, Afe ¥, e Fie )

(1) i agfs
@) € eEs
(3) <@ s
(4) I sfE
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g4, Dividend is paid as a percentage $

85.

87.

(1) Called-up Capital
2 Paid-up Capital
(3) Reserve Capital
(4) Registered Capital

As per the Companies Act, 2013, maximum
number of partners in a partnership firm is

limited up to :
@ 20

@) 50

@) 100

(&) 10

Which method will show highest value of

closing stock in inflationary conditions ?
(1) Average Cost Method

(2) LIFO Method

(3) Weighted Average Cost Method
(4) FIFO Method

The debts written off as bad, if recovered

subsequently, are :
(1) Debited to Bad Debts account
(2) Credited to Debtors Account

(3) Debited to Profit & Loss Account

&} Credited to Bad Debts Recovered

Account

PGT-COM-2023 3943

B4.

85.

86.

87,

88.

ot ffEm 2013 % SR T W,
el S FEA W F

(1)
2)
@)
)

R 2 el 3 < e o

89.

20 @
50 =
100 T

10 =

1 SAfead ged guta ?

@)
@
&)
©)

afigd wr fafy

LIFO fafy

G i e fafy
FIFO fafyy

390 F ' H Fyferfian s, aft =g § T
T 4

(1)
&)
@)
(4)

91.

S W Y e R
B e (S S—
ST @ &1 i e s &
S 0 S i i ey o

0.

Th
on
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(1

(©)
4

cr

@
@
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The amount payable to the Tetiring party
er | B8.
Goodwill’ g

of continuing

§8- -
on account of Adlu-‘:tme:nt ot

debited to the capital accountg
partners in their : '

(1) Profit Sharing Ratm
2 Sacrificing Ratio

@ Gaining Ratio

4) Capital Ratio

- Which of the following accounts will have a
credit balance ?

89,
(1) Carriage Outwards
(2) Bills Receivable

(3)
(4) Purchases &

“i‘“’

Rent Outstanding

proprietor, is an example of ;
(1) Increase in Aats?t and Decrease in

(2) Increase in one Asspt and Decrease in
another Asset

(3) Increase in Liability and Decrease in
Asset

Increase in Asset and Increase in
Liability

(4

9. Which of the following errors affect the Trial

Balance ? -

£1)  Errors of Partial omission

(2) Errors of Complg&lmlsﬂon

(3) Compensating £

(4) Errors of Prmcipyf}
r'""\‘IE

> 33
’“T-Cou-zoza N

g0, Additional capital, “bxought in hy the | 90,

91.

St TR F A AEERK “efa &
W'ﬁamﬁmq@zﬁtﬁ@ﬁ
T wfigm fepen < ¥ :

(1) 57 e s A
() < T I H

(3) T sfens ST #

(@) %% ot s A

o & o ) o e A A 7

(1) = SEs
(2) A fau
(3) ef=d e
@4 =q

e AT g o st e, Wh S
T

(1) it H oy To 3§ A

@) s gt 1 gfg qon o wafa § S 6

_(3) T ® of oo wuth H SH

(4) wafe ¥ afs o 3 H gt A

e & | -5 i weue )yt S
2

(1) 3o e
@) i @ sl
(3) WI s

@) St sfeEt
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g 1,061,400

18 sold ¢

Cost ot L

Opening Stock 1 T 11,600

Closing Stock : € 12,000

of purchase will be

ot o fHE = o
e 00 T Vil

The amount

(n i 49,800

(]
@)
)

T 1,49,400
T 1,61,800
T 1,61,000

Which source of Business Finance provides
benefit in tax ?

@)
@
@)
@

93,

Equity Shares
Preference Shares
Retained Eanungs

Debentures

The World Bank began its operation in :
@
@
B8)
O

94.
June 1946
June 1947
June 1948
June 1945

95. Which of the following is the oldest form of

organising public sector enterprises ?
(1) Departmental Undertakings

@
®)
()

Departmental Stores
Government cnmpa.ﬂiﬁs

Co-operative Societies

93.

94.

PGT-COM-2023 SUE%

95.

Pl wfn : X 12,000 %
g 1 T e g
1) 7 1,49,800 iy
(2 7 1,49,400 ”
@ X 1,61,800
@ X 1,61,000 X
com
mﬂﬁlﬁﬁﬂﬂw—wﬁamﬁmz )
FEE? %
(1) @ 4
(2) TR S (|!_-1- ) (;}
@ wwmsETd
& 7 | 98. De
_ "
forga o 3 ST S WY o
@) smaseed L g
(@ 1947 F
@) 1948 # @
() 1945 % ¢
s 8 % IR w e 1
ey i g aﬁq_m“g 2 i
@) i e | ‘
@ frw ser Y |
P
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& MINIMUM amount that can
' gough RTCS is

be remilie

) Z 2 Lakh

@
@
@

Z 5 Lakh
£ 10 Lakh

Z 1 Lakh

J

rhe ‘International Monetary  Fyng’
commenced operation in Washington on

m March 1, 1948
@ Aprill, 1947

&
®

i

April 1, 1948

March 1, 1947

¢, Decentralisation :

(1) the

Decrease
Subordinates

Importance of

Increase the of

Subordinates

Importance

()

Increase the Importance of Superiors

)
(4) Decrease the Importance of Superiors

The First Mutual Fund scheme in India was
introduced by :

1)
()]
)
() State Bank of India

paTvcmm %

Government of India
Unit Trust of India

Reserve Bank of India

96,

97,

35

98.

99,

anre sl v, A s 8 Syl S PTe B L RO
vt &

Q)
(2)
(3)
(4)

2w
5 @
T 10 wiE

T @

'w@mm'imﬂwmﬂ
feFm

1 77, 1948 ®
1 o, 1947 W
1 e, 1948
19, 1947

M
@
@)
(4)

T
(1) el S e e
(2) o] =1 e W

ST 1 Hew wg €
STl i TEE S §

(&)
4

W 3 e T WS e R T

G TR 5
Wit e TR B
sy fd % 5
T R o g

)
?
(3)
(4)
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100. ‘Funct

'd =
Q(]_l. A ‘long-term investment de

102.

s = sed by
jonal Foremanship {s develof Y

(1) Henry Fayol
(2 EW. Taylor

4

(3) Peter I, Druker

4) Maslow

cision’ is also
known as :

(

(2) Financial Decision

—

) -Dividend Decision

(%) Cash Management Decision

(4) Capital Budgeting Decision

The principle of management which implies
that there should be ‘One Head and One Plan’
for a group of activities is :

(1) Order
(2) Unity of Command
(3) Authority and Responsibility

(4) Unity of Direction

The maximum period for which a
‘Commercial paper’ can be issued is

(1) 6 Months
(2) 9 Months
(3) 12 Months

(4) 3 Months

PGT-COM-2023 ﬁ
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100.

101.

102.

103.

o .104,)';:
(2) R Tt
(3) e . T @a
@ s @

@
.mﬁﬁﬁﬂmm'@ﬁmﬁﬁimﬂ 7
(o 105. V
@ facf o f
@) s v o (
(@ e s i (

(
e = <1 fagia 7€ e € {6 e 3, (

T 3q  uE HfEET, T A e e

@

(1) o=En

(2) ST I TR

(3) iR e SwEaE
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(1) ew®
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D, fong term loan is borrowed -
o s 30%. aand tax
rate 15 <

@ 10

The cost of debt (after tax) is_

a 7% 3
2 10%

3 20%

@ 3%

105. Which of the following Management
functions are closely relateqd ?

g]} Planning and Contro]];‘mg
(2) Planning and Staffing
(3) Planning and Organising

(4) Staffing and Controlling

(®

. First of all, ‘Double Entry System’ of
Accounting was introduced in

(1) England
() America
(3) TItaly
(4) India

107. Which of the following is the *Accounting
Equation” ?
() Capital = Liabilities + Assets
() Capital = Liabilities — Assets
A3) Liabilities = Assets ~ Capital

(§) Assets = Capital — Liabilioe®

%T‘Oou-zozs %
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105.

106.

107.

AT 30% B

T ) A (R ) ¥
My 7%

@ 10%

(3) 20%

4 3%

104, 10% 1 7¢ T Aierret 7o feran W A A

Frer & @ wete 3 fo ] 35 o T Wad ¥

(1) Friem wE e
(2) freiom oo FrgfesReer
(@) frdem wd e
@) TFrfERER e e

s & fg-siEd Wonel’ angw el W'

T2
(1) ¥
(2) EfE
(3) el
(4) W

o= B | ORI WHERT R § 2

() ot = T + Wt
@ f = e - wE
(@) e = st - g
(4 e = St - S
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108.

109.

110.

111.

PGT-COM-2023 %

{nership 18

hich type of pat

Registration of w
compulsory 7

L) Limited Liability Partnership
(2
@)
)

General Partnership
Partnership at will

Unlimited Liability Partnership

Status comes under which type of barriers of
Communication ?

)
2
)
M

Organisational Barrier
Semantic Barrier
Psychological Barrier

Personal Barrier

Which of the following pair is correctly
matched ?

(1) Promotion : Does not involve higher
position, Status and responsibilities

(2) Autocratic Leadership : Enhance
Motivation

(3)  Job Enrichment: Mechanism to identify
employees growth potentials

(4) Feedback Interview : Conducted at the

time of employee leaving the

organisation

Which of the following is not a limitation of
sole proprietorship ?

(1) Limited resources
(2) Unlimited Liability
(3
)

Uncertain Life of Business concern

Direct Incentive

109.

110, frm @ for 7 o1 Ha W @2

111.

(1)

&)

()

)

Ef‘ﬁ@m*ﬁwwﬁaﬁ@m“ﬁ

@)
(2)
®)
&)

11
i ST

yerefa @ S=-Terfa, ge-vfser
IAEaEl § Haitg el ©

g g : stfseon § gfs ot @
i Tt : FH=REl S wafs §E
Ealeraime e i ol

WY TR : s g w9
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R%

a9

g

Bt

&

12 which of the [“"l"‘“'h\p
co-operative society ? ;

is o limitation of
1) Limited l..iabililjr

) Support ffom Gu\rermuenl

@) Goverr;n\ént Control

(4) Equahty in voting status

113. Which of the following is not a principle of
Insurance ?

(1) [nsura%le"fnterest
: __.r:-n-:la

(7) Assist %ﬁ;ﬁ?pital formation
.
(&) Inde]:rw]’

N
(4) Utmost'GgodFaith

112, Fore i 4 ergenrd) aifiefir o) o v @

(1) witfirr e
(2) | A
(3) weEhd FrEm

(4) e H wHE

113, fo= 8 A i =1 fagia FE-w T §2

1y e fed

(@) it fomfor & s
(3) R

(o) T

114, Which of the following is not a function of

Insurance ?

(] Protection

() Risk -gf?-fing
<

114, Fre ¥ @ e - w2

O
) merid%-?ﬁf’inm

- il :
@) Providingcertai®
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o - ¢
5. Which of the following is a major argumen

o against social responsibility of business ?
(1) Long-term interest of the firm
{2) Burdenon Consumers
(3) Avoidance of Government regulation
(4) Justification for existence and Growth
116. Which of the following is not a characteristic
of Business ?
(1) Profit Motive
(2) Existence of Risk
(3) Certainty of Return
(4) Dealings in goods and services on a

regular basis

@ Some merits of a good source of finance are
as follows :

()

It is a convenient and continuous
source of funds.

(i) It needs to promote the sales of an
organization,

(iii) It does not create any charge on the
assets of the firm while providing funds,

Identify the source of finance :

(1) Trade Credits

(2) Factoring

(3) Lease financing

(4) Retained Earnings

PGT-COM-2023 %
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116.

117,
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‘The interval between .
o

me t o
e ng pai k not e
Alged

(1) 15 Months
(2) 18 Months
(3) 20 Months
(4) 12 Months

119. Span of control means :

fﬂ) A manager can supervise only a limited
number of subordinates
(2) An organisation consists of various
departments
(3) Authority of each employee is clearly
defined
(4) Every subordinate has one superior

120, A company secretary is appointed in a

company by the ———

Shareholders in Annual General

Meeting

o

Government

(2)
(3) Board of Directors

@)

pany Gecretaries Of

Institute of Com
India

PGT-COM-2023 ﬁ
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a1

dan -
nual general | 118, we st i <) Affen e s & o

o s @ st e g e

(1) 15H®E

(2) 18W®
(3) 20ME
(4 129E

119, Foon faeam & HH € 5
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121. In a Government company’, the share capital
held by the Government must not be less than

of the total capital.
@ 51%
@ 75%
(3) 76%

@) 50%

122. The agreement of Partmership
(1) Must be in Writing

{2) Can be either Oral or in Writing

(3) Mustbe in Writing on the Stamp paper

(4) Must be Oral

123. Which of the following documents defines

the scope of a company’s activities ?
(1) Statutory Declaration

(2) Articles of Association

(3) Prospectus
#) Memorandum of Association

PGT-COM-2023 %?
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122.

123.

et i

0
@
&)

@

5 QA E e,

51%
75%
76%
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@)

2
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Hifiga st fofas o 9ol &
=i I W H fafEg § 29 Tk

Hifieh ¥ & ey

71 5 | -y S = fafafi & o
Ft Rt e &2

(1)

(2)

@)

4)

S Sy
T st
Hieeo 45

T e e

Q2

The ‘Ne¢
L is given

@ H

oy

125. Direct
@ ¢
@
@)

@)

126. Grap
)
@
®

@

PGT-cOI




g The ‘Need - I—Berarchy Theory: el
e ativation

(1) F.W. Taylor
[2) Henry Fayol

,“) Maslow

125, Directors of a public company are elected by :

(1) Government
(2) Shareholders
(3) Debentureholders

(4) Public

126. Grapevine is associated With :
(1) Vertical Communication
(2) Horizontal Communication
(&) Informal Conununicatiorl

(4) Formal Commuiﬁﬂaﬁon

PGT-COM-2023 ﬁ
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(2) sl 5

(3) TR B

(4) BN

126. il e € -
1 e S

@) e S ¥

(3) ST T

@) e ST H

43 Q2



rpe of sludy

127. Which of the following i not a b
!

in scientific Manageme nt ?

(1) Method Study
(2) Motion study
(3 Research Study

(4) Time study

128. The minimum number of members ina public

company must be :
@ s

2 7

(3) 10

4 2

@ How many minimum number of meetings of
“Board of Directors’ are required to be held
by a public company during any financial
year ?

(1 3

®)
(3)
@

L] o .

@ The First Stock Exchange was set up in Asia
at:

(1) Mumbai
(2) Shanghai
(3) Beijing
(4) Tokyo

fT—‘frm

o {—. el 31*};1:31 aﬁTﬂEﬁWﬂﬁ?»
(1) faftr AT
(2) rfa #AEAI
(3) SR S
(4) @ A
128. wmaﬁﬂ?mﬂ?ﬁn@ﬂﬁﬂmwm
=gy :
@ 5
N 7
(3) 10
4 2
129, fpet faeig o 3 SNH U WS F F

130.

meﬁﬁwﬁmﬂ o 7
ST SAETIE & ?

1 3

(2) 4

@ 6

4 2

R 6 e T ferafin senfe g -
1) FEEH

(2) v

(3)  efifsi

@ s

13-
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PART - Vi
GENERAL ENGLISH

. Choose the option in)which the
sentence has been changed into passive voice
His attitude vexes me sometimes :

following

(1) Tam vexed by-his attitude sometimes
(2) lam vexed athis attitude, N
(3) Tam sometinies vexed at his attitude
(# 1am vexed by his attitude, |

132. Fillin the blankin the following sentence with
the help of given options.
The train was about to leave the station when
we ___there
(1) would reach
(2) reached
(3) have reached
(4} had reached

D
Directions for question number 133 to 135 :

Eill in the blank in each of the following sentences with
the help of given options. __5

()
133. Nitin as well as his %
coming to the p 4o
By are e
(2) were C =
(3) Thave been

g}}'is

134. Today, the need of common man
just bread and butter.

d Ramesh

(1) are
(2) was
(3) were

@J is

T S
135. Mrs. Kanwal is b Principal of this
SChOOl {_ A )
(1) an N
) the 4
%) no article %:—’:
e ot

A0 ',....,,]
PGT-COM-2023 % et

136, Choose the option in which the following,
words/ phrases have been renrranged to form
ncorrect sentence
(A)  people gave
() President
(C)  him supporl
() him
(E) having elected

(1)  (B), (D), (€), (E), (A)
(2) (©), (B), (A), (D), (E)
(3) (), (D), (B), (A), (©)
) (A), (©), (B), (E), (D)

Directions for question number 137 and l_}ﬂ :
Fill in the blanks in the following sentences with the
help of options that follow each of them.

137, The witness will what I have said.
(1) bear up
(2) bear out
(3) bear with
(4) bearon

138. Can you tell me how the accident oy
(1) came about
(2) came up
(3) came by
(4) came down

139. The troops were ordered to mobilise .

Choose the word which is nearly opposite in
meaning to the underlined word.

1) dismiss
(2) convene
(3) lineup
(4) retreat

140, He delivered the speech with great aplomb

Which of the following words can correctly
replace the underlined word in the above
sentence ?

(1) confidence

(2) apprehension

(3) disquiet

(4) diffidence

45 Q2

!



PART - VI
GENERAL HINDI

. 145. Wﬁq&ﬂﬂﬂﬂmqﬁ%

o s 141 @ 143 3 ol Fder o e
e TS Y ST TG ST ST T 0 o
% geid T Qg ¢ < g

S ST A ST Sete a1 W H A et () ﬁﬁﬁ{
%Hﬂﬁﬁgmwﬁﬁm%ﬁ%mﬁm Co 4
S T S e T - e iR i mwﬁm_ﬁﬁm%t
v & - fe e o & el A% A A H ¥ 146. o
agq i st ot # 7w aw fead ¥ @) 2
et gt 5 T ST S R T o 3 A @ ¥
S ré 1 FHE W F I N T wew (@) G
T e el € (4) TR
141. TG U HEOT Hi A & GE HEN YR : 147, Friffian & § g7 WO e o T 8

1) frRwEae 1) TR

(2) TEREAE 2) FEEHS

@) it e 2 el (3) =AEET

@) FEIME @ TEEE
142, e R O WA T S W | 148, e o A ghE § SGE IR T

i M T

(3) @S aryfai (4) S

(4) ufess § 3= #

149. oty # faert @f aen v # -

143. 507 HE) et T oft FHEN HF TE B § (1) Frora

(1) =g (2) TH

(3) (4) el

i 150. ‘ 37 = Ty’
144, '§a® § T AR @ A @’ fg U .ﬁ’) ém%?‘:ﬁ?ﬁ’tmmaﬁ%

=T @ ﬁtﬁqﬁa

o e @) e =

@ e ; Ti;éé:ﬁagw

(3) 2 " @) s

4] wrEs )

- :,L -00o0-
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